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1 iga rator is not giving the cool as before, State

Cf}

pos ssible cause

verify them.

» and how are you going to

¢) While the outdoors is at 5°C, a house is to be maintained at 20°C using a
heat pump. Assume that low-cost geothermal energy is available at 10°C,
How are you going to use this geothermal energy to increase the COP of
the heat pump?

Pressure drop occurs when a
no-sub-cool no-superheat refri
pressure drop in the evaporatos

‘M
o
-

(’D

Explain the operating principle behind the Thermoelectric cooler.
[10 marks]

A 500-tont (1760kW) single-stage centrifugal vapor compression system uses

HCFC-22 (R22) as the refrigerant. The v&p@r refrigerant enters the compressor
at dry saturated state. The compression process is assumed to be isentropic.
Hot gas is discharged to the condenser am{ condensed at a temperature of
35°C. The saturated liquid refrigerant then flows through a throttling device
and evaporates at a ztempmawﬂf of 1.7°C. Show the cycle on P-h diagram and
calculate,

a) the refrigeration effect,
b) mass flow rate of the refrigerant
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-56.8
253.6
15121
369.9
3443

408
0.408
0.996
0.298
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0.996

0.
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